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Business Statistics (201-934-DW)
Wednesday November 4 2009
Instructor Emilie Richer

Quiz 2

SJOLUT/ONS

1- (10 marks)

In a photographic process, the develping time of prints may be icoked upon as a random variable
having the normal distribution with @ mean of 16.28 seconds and a standard deviation of 0.12 second.
Find the probability that it will take
a. anywhere from 16.00 to 16.50 seconds to develop one of the prints;
b. at least 16.20 seconds to develop one of the prints;
c. at most 16.35 seconds to develop one of the prinis
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2- (5 marks)
A manufacturer knows -that, on average 2% of the electric toasters that he makes will require repairs
within 90 days after they are sold. Use the normal approximation to the binomial distribution to

determine the probability that among 1200 of these toasters, less than 30 will require repairs within the ‘
first 90 days after they are sold.
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3- (5 marks)
A stamping machine produces can tops whose diameters are normally distributed with a standard
deviation of 0.01 inch. At what mean diameter shouid the machine be set so that no more than 5% of

the can tops produced have diameters exceeding 2.5 inches?
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4 - (10 marks)

A student comes into a test completely unprepared. Luckily for him the test is multiple choice! There
are 10 questions on the test, each question has 4 choices of answer (1 correct and 3 wrong). Since

the student is unprepared, he decides that he will randomly select an answer for each question and
hope for the best ... Uh Oh!l!

a. Calculate the probability that the student gets a mark of 70% on the test.
b. Calcualte the probability that the student will get a mark under 80% on the test.
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Quiz 2 — Version 2
Business Statistics (201-934-DW)

Wednesday November 4" 2009
Instructor Emilie Richer

1- (10 marks)
In a photographic process, the develping time of prints may be looked upon as a random

variable having the normal distribution with a mean of 16.28 seconds and a standard deviation of 0.14

second. Find the probability that it will take
a. anywhere from 16,00 to 16.50 seconds to develop ove of the prints;

b. at most 16.20 seconds to develop one of the prints;
c. atleast 16.35 seconds to develop one of the prints
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2- (5 marks)

A manufacturer knows that, on average 2% of the electric toasters that he makes will require repairs
within 90 days after they are sold. Use the normal approximation to the binomial distribution to

determine the probability that among 1200 of these toasters, at most 30 will require repairs within the
first 90 days after they are sold.
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SclLuTioNS

3- (5 marks}
A stamping machine produces can tops whose diameters are normally distributed with a standard

deviation of 0.01 inch. At what mean diameter should the machine be set so that no more than 5% of
the can tops produced have diameters exceeding 3 inches?
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4 - (10 marks)

A student comes into a test completely unprepared. Luckily for him the test is multiple choice! There
are 10 questions on the test, each question has 4 choices of answer {1 correct and 3 wrong). Since

the student is unprepared, he decides that he will randomly select an answer for each question and
hope for the best... Uh OChll!

a. Calculate the probability that the student gets a mark of 60% on the test.
b. Calcualte the probability that the student gets a mark over 20% on the test.
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